0)

©

Ratio to ATLAS

/d H™"} [pb/GeV]
H

1071

1072

1074

0.5

13000 GeV pp tt
= LA L A L N S L L N M S BN B B = %P
— _ =
~ ttHT (ATLAS semileptonic ttbar) 13
- =
o
o™
= TN
— Jo
— mEs
VR NS
=% N\ =z
- A i ! —
L 7 \\E _]
| f A\ i
| = _|lT
= . 33
:_j » : .
Ri s 18
B ATLAS E
= —&— Pythia 8.226 default EX
— Pythia 8.226 tune-1 15
B Pythia 8.226 tune-2c g €
Pythia 8.226 tune-2m 8
I —
= 35
— =rst
| 1O
_l —1 | | | | | | | | | | | | [ | | | | [ |_ E
:l T T T T | T T T T | T T T T | T T T T |:
— =2
- I ]
P
M 1
o et : i
BT i
— —0.5
P T T R T I R T T I R T T I R T T l
0 500 1000 1500 2000



	Contents
	Page 1


